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(@)

(b)
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Describe the nature of the adjusting process as follows:

(1) Prepaid Expenses

(2 marks)
(ii) Unearned Revenues

(2 marks)
(iii)  Accrued Revenues

(2 marks)
(iv)  Accrued Expenses

(2 marks)

Lavenda Boutique closes its account on 31% December each year. Given
are the unadjusted trial balances as at 31 December 2012:

Account Receivables 458,150
Cash 145,600
Prepaid Utilities 76,020
Prepaid Insurance 58,800
Office Supplies 37,800
Office Equipment 102,760
Accumulated Depreciation — Office Equipment 30,800
Revenue 284,760
Salaries Expense 126,000
Miscellaneous Expense 63,980
Unearned revenue 208,950
Capital 544,600

Additional information:

Utilities expense amounted to RM11,440.

Unearned revenue on 31 December 2012 is RM174,550.

Supplies on hand at 31 December 2012 amounted to RM25,600.

Salaries expense for the month of December 2012 amounted to

RM6,000. It has not yet been recorded and will only be paid in

January 2013.

o Prepaid insurance represented premiums for a policy purchased on
1 May 2012 for a period of one year.

° Depreciation of office equipment is based on the straight-line

method. The office equipment has an estimated life span of five

years with no scrap value.
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(b)
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Based on the information provided,

6)) Prepare the adjusting journal entries.
(6 marks)

(il)  Prepare the adjusted trial balance as at 31 December 2012.
(6 marks)

Your friend offers you an investment opportunity which will pay a single
lump sum of RM5,000 five years from today. The investment requires a
single payment of RM1,500 today.

Calculate the annual rate of return on this investment.
(4 marks)

Deryl wishes to save money to provide for his retirement. Beginning one
year from now, he will begin depositing the same fixed amount each year
for the next 30 years into a retirement savings account. Starting one year
after making his final deposit, he will withdraw RM50,000 annually for
the following 25 years. Assume that the retirement fund earns 12%
annually over both the period that he is depositing money and the period
he makes withdrawals.

Calculate the amount of annual deposit required for Deryl to have
sufficient funds for his retirement.
(8 marks)

You have deposited RM1,000 in an account earning 6% compounded
semiannually.

Calculate the amount in the account after 5 years.
(4 marks)

You plan to buy a house. You will need RM17,400 to pay for the down
payment. You plan to deposit RM500 per month in a savings account
which pays 3% per month.

Determine how long it will take you to accumulate the RM17,400.
(4 marks)
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(a)

(b)
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A five-year project require an initial investment of RM95,000. The
expected free cash flows are as follows:

Year1 :
Year2
Year3 :
Year 4
Year 5

The required rate of return for this project is 15%.

Calculate the projects;
) Payback period.
(i)  Net Present Value (NPV).

(i)  Profitability Index (PI).

RM12,000
RM39,000
RM39,000
RM30,000
RM18,000

(iv)  Internal Rate of Return (IRR).

(2 marks)
(4 marks)
(2 marks)

(6 marks)

Based on the calculations from Q3 (a), explain your decision on the

proposed project.

Explain the rationale of capital budgeting.

(3 marks)

(3 marks)
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Define the concept of ‘positive’ and ‘negative’ working capital.
(4 marks)

Your company needs to pay RM15,000 for the overhaul of five trucks. A
bank offers you a loan at 15% per annum with a compensating balance
requirement of 12% of the loan amount. You plan to borrow the money for
one year and currently do not have an account with this bank.

Calculate the effective cost of the loan.
(5 marks)

Calculate the effective cost of the following trade credit terms if the
discount is foregone and payment is made on the net due date.

()  2/15net 30

(2 marks)
(i)  2/15net 45

(2 marks)
(iii)  2/15 net 60

(2 marks)

Indera Berhad is planning to issue RMS5 million in 180-day maturity notes
earning a rate of 12% per annum. The company expects to incur costs of
approximately RM20,000 in dealer placement fees and other expenses of
issuing the commercial paper. The company plans to back up their
commercial paper offering with a line of credit from a bank for RMS5
million. The compensating balance requirement is 10% of the line of
credit. The company normally maintains RM450,000 in its accounts with
the bank.

Calculate the effective cost of the commercial paper offering.
(5 marks)
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Silk Wedding Sdn Bhd has assembled the following data for the first
quarter of 2013:

Sales in December 2012 were 25,000 units. On 31 December 2012,
the following balance are given as below:

Account Receivables RM40,000
Account Payable RM10,000
Inventory 4,000 units

The company expected sales to increase 20% in January, 25% in
February, 20% in March and April.

The selling price is RM10 per unit and sales are 30% cash and
70% credit. The collection procedure of the company are 70% of
credit sales collected in the month of sale and 30% collected in the
following month.

The management wants ending inventory equal to 20% of the
following month’s budgeted unit sales.

Average purchase cost was RMO0.50 per unit. 50% of a month’s
purchase is paid in the month of purchase and the balance will be
paid in the following month.

Prepare a cash budget for Silk Wedding Sdn Bhd for the month of
January, February and March, 2013.

(15 marks)

Explain TWO (2) objectives of preparing budget to a firm.

(5 marks)

-END OF QUESTION-
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FINAL EXAMINATION

SEMESTER/ SESSION : SEM 12013/2014 PROGRAMME : 1BPB
COURSE : BUSINESS FINANCIALMANA GEMENT COURSE CODE : BPB14203

FV,= AMT (1+i)" or AMT (FVIF,,)
PV=AMT (1+i)" or AMT (PVIF,,,)
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